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2019

BOTANY
( General )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Write very short answer/Fill up the blank :

1x10=10
S 55 Teq o1/ AR o9 90
(@) Who coined the term ‘ecosystem’?
BT (RREF 1) @B @A A
AT R ?
(b) What is commensalism?
sReierer &2
{c) Indian Rice Research Institute (IRRI) is
situated in which city?
SRS g AT SEPE (A TS
SRIES ?
(d) Name two gases which cause global
warming.
TR TR T 7Ry o= T feram 1
(e} What is xerosere?
e @2
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(2)

() The richest source of vegetable protein
is seeds.

A= Tfews NI SRCONT Tz T |

(g9 What is green tea ?
CTo& o= 7 2

(h) Which part of coffee plant is used for
preparation of the beverage?
I SRA PO B A AFOFITS AT
IWA?
(i What is piperine?
e 2
() Write down the pathways of energy flow
"in an ecosystem.

b1 RS oFe e oy ety @i |
2. Answer the following : ' 2x5=10

were fyPRe bas i

() What do you mean by ozone layer
depletion ?
'Y I TS feicel & o ?

(b) What is BOD? '
BOD &7

(c) What is eutrophication?
o e (ffefa) e e 32

(d) Write a short note on seasoning of wood.
I STACOISFAR SRS bl 5 (Ot fora |

(e) What is detritus food chain?
o A <] 2
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(3)

3. Write short notes on -any four of the

following : 5x4=20
were framrza R e wieR o ol fors
{a) Mangrove plants
s ofew
(b) Greenhouse effect
leCCOERERIT)
(c) Primary succession and secondary
succession
N ST WE G Sy
.(d) Water pollution
T R
(e} Biotic components of ecosystem
RS TF (o) oI
{f) Carrying capacity of the environment
AR I T
4. Answer any four of the following : 10x4=40
wors frap R core wifoR Ta fam
(a) Describe the role of carbon cycle in an
ecosystem. 10
RS o7e I 5 FiRT 3671 391 4
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(4)

(b} What are the abiotic factors in an
ecosystem? Give an account of the forest

ecosystem. 3+7=10
fRfZ ogv e IR B 2 = [ iEfs
T R S 4 |

{c) Give an account of the general process of
succession. 10
SNl AR Rcy e 4 |

{d) Describe in detail any one of the
beverage-yielding plants of Assam. 10
o R @ oy 19 @ SeomEea
S Ry == 396 590 |

{e)} Mention the scientific name of any plant
which belongs to the following
categories. Mention their parts used and
economic importance : 3+3+4=10

(i} Fibre-yielding plant
(i) Rubber-yielding plant
(i) Medicinal plant
oo TrEy ¥ Rerwm wefe R @
IS SfeE [qEfe TN, J9Te W e
Ao gy for ¢
(i) Wiz TeAmeR Tew
(i) TR AT T
(iii) 382 Tfen
* %k %k
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